LZREES

BRIRE & & BT | “sE B &
EH-#%ET158 [($50)
EKEMFRT HPPE (EFZ Ot A 2ZE%) L=5.00m ¢ 50 VN 19 |94m#E% (& 1m)
@50 HPPE(E%) L=5.00m ¢ 50 b 11 [54m#AER(F%1m)
AHEIE (P) $50%x45° (P) | & 5
PVIIALUk ¢ 50 & 5
EFfSEAR @50 x 45° & 2
EFf%F—X ¢ 50 & 4
EFY/r vk ¢ 50 & 4
EFfS2SRUK ¢ 50 H-300 & 2
BEREE HETEE $50(P)x p40(V) & 1
MC=#> (SUS) ¢ 50 & 1
T Bk 53 i AWK 53 8 ¢200(DIP)x ¢50| {& 1
® 200X ¢ 50 KRBV TYNALTT) ¢ 50(P) & 1
BRI —k BRY—bk W=150S m 144.0 |4mK R B BIERR)
TOHFHET HRML ¢ 50 = 4
¢ 50(P) HhlHYrysL2a7) ¢ 50(P) & 8
toH=E H=600 # 4
kg YRILIFER KRR ER) ¢ 50 % ¢20 & 8 |27 —1AE!
ISRTafvk ®20 & 8
HRILS K (P) [HIVP  L=4.00m ¢ 20 X 5 [3m x 64, 1m x 244
$50% ¢20 HIT LA $20 @ 16
Hiv4ybk 20 & 8
\’/‘)35?3T+ EPX [4vp  L=4.00m ®40 & 1 [ 1mx 145
$50% 40 SKXT LR $40(V)x90° & 2
AR —k AR —k W=150S m 21.0
HEE
BRIRE & & BT | “sE B &
FH A5 |($50)
RYIFLUERBRT ®50 m 148.0
¢ 50(P) RUZFLUERT ¢ 50 A 15
AAZAIIBFI(P) ®50 | 17
ANZHILBEFET (V) ¢ 50 m] 5
RUTFLUERF I (REES) ¢50 10O#F | &FT 19
RUIFLUERF I (REES) $50 204 F | &FF 12
B K 53 % WKk (55 E) 200 % ¢ 50 = 1
DIP$100% 50 |RUIFLUEWFET ¢ 50 m| 1
KERE & a7HIFL ¢ 100 i 2
SPE P TMER (BT XHG ¢ 75 M 4
EHR— BRY—bk W=150S m 144.0 |4mK R EBIERR)
TOHHET U RFHET ¢ 50 #® 4
¢ 50(P) HENOZERLAHES ¢ 50 a 8
N=2% RUIFLUEMFT ¢ 50 m| 8
RERET H=600 #H 4
BERE ® 4
kg YRILDKRFEL KRIEA ¢ 50% ¢20 & 8 |27 — k%
HRILSKEE MERLAHT $20 H 8
@50% ¢ 20 E-—LERET 20 m 20.0
N=8f# TSHFT $20 o 48
ANEIT ANZHIBEET (V) ¢ 40 m] 1
$50% 40 RYIFLUEHFET $ 40 A 4
N=1#F E=——L&EHBT 40 m 1.0
AR —k AR —k W=150S m 21.0
EIKERER
KR HKEERT HKERE H 0.07 |H=L/2000




T I %M E %
% 7 Bk [ MmB | e g BitsE
E 0 -1%ET1 54

BlKEMERT kB 4 T H:600A=&ﬁﬁ®® 060 m X 0723 m X 1440 m = 62.47 m3
a&t A 625 m3 60

W REEL TGREF ) H=600 _&'ﬁﬁ@@ 060 m X 0263 m X 1440 m = 2272 m3
Bt 227 m3 20

B LT (SE 4 +) stoer&ﬁﬁ(D@ 060 m X 0290 m X 1440 m = 2506 m3
&5t B 251 m3 30
HLMET A-B/0.9 = 3463 m3 30
TERET t=10cm | RC-30 060 m X 1440 m = 86.40 m?2 86
rrERBT t=8cm M-30 060 m X 1440 m = 86.40 m2 86
RAsEHZET t=3cm AL 060 m X 90 m = 540 m2 5
AEIHAEHET t=4cm 7L 080 m X 9.0 m = 720 m?2 7
AsEhEE R LI T T t=4cm 900 m X 40 % = 360 m 36
AsTiZE R T t=4cm 080 m X 9.0 m A = 720 m?2 7
R AT MR I T t=3cm 060 m X 90 m B = 540 m2 5
AsTHEE OB - 05 T A’ x0.04 + (B’+C’) x0.03 = 045 m3 1
BKYIBT |MHWKRET H=600 | BFE@ 060 m X 0763 m X 210 m = 961 m3 10
HWIERLIGRRFYS)| H=600 | KFEQ 060 m X 0263 m X 210 m = 331 m3 3
MBEBERLI(R4ELT) | H=600 | BEQ 060 m X 0290 m 210 m = 365 m3 4
HLIuET 9.61 - 3.65 /0.9 = 555 m3 6
TERET t=10cm | RC-30 060 m X 210 m = 1260 m2 13
rrERBT t=8cm M-30 060 m X 210 m = 1260 m2 13




H 50 HPPE fd K % 4] & £
wEE  (m) \
BOEW B R |0 ERE S e T i %
-1 -2 -3 Z-4 Z-5 ) O5®) (1)
1 HPPE 50 5.000 1.000 4. 000 5.000 1 @= nftEE
2 HPPE 50 5.000 2.000 2.000 4. 000 1. 000 2 O= OfHEE
3
4
5
6
7
3
9
10
i 10. 000 3. 000 6. 000 9. 000 1.000 3
10. 000 3. 000 6. 000 9. 000 1.000 3. 000




$50 HPPE Hd K & b) & %
UEE (m)
Pirs Pirs VA o \M t * I
£ BH B E|0ERE " R (m) 2 W %
Z o -
5]
Z.-1 Z.-2 Z.-3 Z.~4 2.5 (O ([)
1 HPPE 50 5. 000 1. 000 1. 000 3. 000 5. 000 2
2 HPPE 50 5. 000 5. 000 5. 000
3 HPPE 50 5. 000 2. 000 2. 000 1. 000 5. 000 2
4 HPPE 50 5. 000 5. 000 5. 000
5 HPPE 50 5. 000 5. 000 5. 000
6 HPPE 50 5. 000 2. 000 2. 000 1. 000 5. 000 2
7 HPPE 50 5. 000 5. 000 5. 000
8 HPPE 50 5. 000 2. 000 2. 500 0. 500 5. 000 2
9 HPPE 50 5. 000 4. 500 0. 500 5. 000 1
10 HPPE 50 5. 000 3. 500 0. 500 1. 000 5. 000 2
11 HPPE 50 5. 000 2. 000 2. 000 4. 000 1. 000 2
5 55. 000 37.000 10. 500 6. 500 54. 000 1. 000 13
55. 000 37. 000 10. 500 6. 500 54. 000 1. 000 13. 000




MR

iz e 2% pSTEr B | JHE & =
BEHT (¢ 75)
BKEMBT HPPE(EFZO{tFZEE) L=5.00m ®75 VN 9 [45m#7 &% (5%0m)
®75 HPPE(E%Z) L=5.00m ®75 VN 2 [1om#AE& (5% 1m)
AHEIE (P) $75%x45° (P) | 1@ 4
PVIaAf Uk ®75 & 1
PCTaAf b 75 & 1
RExT YRILD KRR d75(V)x 50 | 1& 1
KRV YR $50(V) & 1
BRI —bk BRI —k W=150S m 53.0
HUIHFET RURA—AKEY IR — LT H ¢ 100 = 1
»75(P) TUIH=E H=600 #H 1
BB YRILFER KRGV EA) ®75% ¢ 50 & 2 a7 — K%
Ik (P) KRV YE(V) @50 & 2
675% 350 HiVP  L=4.00m ®50 PN 1
SKXT LR @50 1@ 4
YRILFER KRGV EA) ®75% ¢ 20 & 1|37 —%E
H L4 ke (P) |HIVP  L=4.00m ®20 ¥:N 1 [Imx 14
$75% ¢20 HiTJLAR $ 20 @ 2
HiV vk ®20 & 1
BARS—k Ry —b W=150S m 3.0
$HE
KR & & B | BHE B &
BEHT (¢ 75)
RIVIFLUEMRBRT ®75 m 53.0
b 75(P) RUIFLUEYRT ®75 A 6
ANZHILBFT(P) b 75 A 10
ANZHILBET (V) ®75 O 1
AHZHIL#E T (DIP) 75 O 1
RUIFLUOERFT (REES) $50 1OMF | &FF 9
RExT YRS KRBRET E-ILER ®75% ¢ 50 & 1
¢ 75% ¢ 50 HMERLAAT ¢ 50 A 1
HEHRI—k R —b W=150S m 53.0
TOHEET TUHFHET @75 = 1
@75 (P) AN=HhILBFTI(P) ®75 | 2
FERET H=600 #A 1
hESRE ® 1
WAkUET YRILRKERFBEL RIEHR ®75% ¢ 50 & 8 |27 — iK%
BRI KR HERLCAAT ¢ 50 a 8
$75% ¢50 E-—ILEmET @ 50 m 2.0
N=2% RYTFLOBHET 50 O 100
YRR KERFBEL RIEHR ®75% ¢20 & 1 (A7 —&E
355’?’;7%% ﬁlﬁ%ﬂati&ﬁ_l ® 20 m| 1
N=14 EZ—ILERHKT ¢ 20 m 1.0
TS#HFT ¢ 20 | 6
BARS—k Ry —b W=150S m 3.0
WK ER
EKEER HKEHERT HKEFE H 0.03 [E =L/2000




T T % E %
% 7 I RIEIER o g BituE
BEHT

FEKEMET H=800 | MrE®D 060 m X 0950 m X 20 m 1.14 m3

H=800 | EFE® 060 m X 0950 m X 510 m = 29.07 m3

WWRIE T H=800 | {RE&xT 060 m X 0950 m X 20 m = 1.14 m3

HKAE 100 m X 0800 m X 10m = 0.80 m3
=111 A 322 m3 30

H=800 | EFE® 060 m 0290 m X 20 m = 0.35 m3

P ——— H:80f) MER 060 m 0290 m X 51.0 m 887 m3

HAKRE 100 m 0660 m X 10 m 0.66 m3
a% 9.9 m3 10

H=800 | EFE® 060 m 0490 m X 20 m = 059 m3

R LT (54 ) H=800 %@@ 060 m X 0560 m X 510 m = 1714 m3

H=800 | {R&XT 060 m X 0950 m X 20 m = 1.14 m3
A&t B 189 m3 20
EHErmET A-B/0.9 = 1119 m3 10
TERET t=11cm | RC-30 060 m X 550 m 33.00 m2 33
FERET t=8cm M-30 060 m X 20 m = 120 m2 1
RAsEHZE T t=3cm FR AL 060 m X 580 m = 3480 m2 35
AEIBAsSHET t=4cm R 080 m X 58.0 m = 46.40 m2 46
AsEHZEhR Y] T t=4cm 6000 m X 40 % = 2400 m 240
AsTHE R BE R T t=4cm 080 m X 600 m A = 48.00 m2 48
RAsEHZE hRFE R T t=3cm 060 m X 600 m B = 36.00 m2 36
AsTHEZE R ER -0 T A’ x0.04 + (B’+C’) x0.03 = 3.00 m3 3
HBAKUIBL |MHKEL H=600 | BFE® 060 m X 0750 m X 30 m = 135 m3 1
BERLIGEZFYS)| H=600 | BTEQ 060 m X 0290 m X 30 m = 052 m3 05
MHIERLI(RELT) | H=600 | BTEQ 060 m X 0360 m X 30 m = 0.65 m3 0.7
EHimET 1.35 - 0.65 /0.9 = 0.63 m3 0.6
TRERET t=10cm | RC-30 060 m X 30 m = 1.80 m2 2




H 75 HPPE fd K % 4] & £
wEE  (m)
B BW EE |0 ERR S e T i %
-1 -2 -3 z-4 Z-5 ) O5®) (1)
1 HPPE 50 5.000 2.000 3. 000 5.000 1 Z A AHEE
2
3
4
5
6
7
8
9
10
i 5.000 2.000 3. 000 5.000 1
5.000 2.000 3. 000 5. 000 1.000




$75 HPPE Fd K & B B %
wEE  (m) \
BOEW B R |0 ERE S e T i %
-1 -2 -3 Z-4 Z-5 ) O5®) (1)

1 HPPE 50 5.000 2.000 1.000 1.000 4. 000 1.000 3

2 HPPE 50 5.000 3. 000 1. 000 4. 000 1. 000 2
3
4
5
6
7
3
9
10
11

i 10. 000 5.000 2.000 1.000 8. 000 2.000 5

10. 000 5.000 2.000 1.000 8. 000 2.000 5. 000




